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A1519% 4.2 LERINANITNARDIN 30 °C

Sample No [Test temperature] Tensile Pulse Vertical Remark
Stress Defm. (mm)
1 30 450 360 12.04 Failure
2 30 450 748 12.18 Failure
) 3 , 30 450 745 11.95 Failure
4 30 450 568 12.10 Failure
5 30 450 262 12.32 Failure
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A1519% 4.3 LFAINANISNAABIN 20 °C

Sample No Test Tensile Pulse Vertical Remark
temperature Stress Defm. (mm)

6 20 450 45220 12.42 Failure

7 20 450 2653 10 Failure

8 20 450 11783 10.3 Failure

9 20 450 1417 10.53 Failure

10 20 450 5219 10.70 Failure




29

Reud0d1980 5 Aeunmaaosiigangd 20°C Tauld Stress 450 KPa vz1fiud
L4 E [] 3
Aoudiodiens 5 Aeusziamsitaninuafisanudigenilunmsiinisnanssh 30°C uag

o

figns1msyud Aeutnage WwReINy 5 Avwuisn

A15199 4.4 UARIHANTINAADIN 10 °C

Sample No Test Tensile Pulse Vertical Remark
temperature Stress Defm., (mm)
11 10 450 40000 0.34 Not Failure
12 10 450 40000 0.45 Not Failure
13 10 450 40000 0.40 Not Failure
14 10 450 40000 0.21 Not Failure
15 10 450 40000 0.59 Not Failure
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